PRAVOK. KROZNI IZSEK
S=ab d= a*+b* Si=aI11/360

KVAD. Si=l1/2

S=a’ d=a 2 I=ar l=aTI1/180
DELT. KROG KOLOBAR
S=ef/2 0=2[Tr 0=2II(r1+1)
PARA. S=TIr*  S=TI(r,*11%)
S=vv;* PRIZMA (v:
S=absina - kvader D= a’+b'+c’
va=b sina P=2(ab+bc+ac)
ROMB V=abc

S=a’sina - kocka D=a 3

S=ef/2 P=6a’ V=a’
TRAPEZ P=25+S,

S=a+c/2 v V=Sv

TRIKO. - enakoroba v=a=s

S=a vi/2* PIRAMIDA

S=a b siny/2* - tetraeder (enakoroba)
enakostr. P=a’ 3

S=a’ v=a 34 V=a’ 2/12
pravok. - oktaeder
S=ab/2 P=2a’3
enakokr. V=a’ 2/3

S=c v/2 P=S+S,
cosy=a’+b’-c’/2ab V=S v/3
N-KOTNIK - pravilna 3/6

S n360/n n/2 3/6 — enakostr.

a - enakoroba v=a
S=nar/2 VALJ
a=2r sin 180/n P=2ITr(r+v)
OCRTAN- R V=TIt v
R=abc/4S R=a/2sina* - enakostr. 2r=v
VCRTAN- r P=6I1r*
r=S/s ..s=at+b+c/2 v=211r’
STOZEC - osni presek: 2r v
P=TIIr(r+s)
V=IIr’ v/3 - osni presek: s’=r’+v’ (enakokr.)

- enakostr. 2r=s  S,=IIrs



